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Total event: 10,000

Total wave: 41,692

Total skimed wave: 28,040



E36 Csl waveform fitting

Fitting Algorithm

@ Fitting Function Model
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Relation of both decay time
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>> Focusing parameters is 20 and 25.



E36 Csl waveform fitting

Fitting Algorithm

@ Multi wave fitting
1. Fixed decay time: t.= 20, t,=29

.

2. Fit with single waveform :

= . 1000
3. Calculation difference of raw data
and fitted function : 800

.................................................

fit with double waveforms.
5. Calculation difference of raw data

. __and fitted function. ...
= 200

6. In the case of the difference >3%,

fit with triple waveforms. o Lo v v 0 )
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pulse height (ch)
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Result of Fitting

wavelorm(nx.y)=(63.21)
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wavelorm{n.x,y)=(219,12,29)
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E36 Csl waveform fitting

wavelorm (n x.y)=(4.7,47)
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waveform(n x.y)=(29,10,27)

Raw data

Fitting function
First waveform
Second waveform
Third waveform
Fourth waveform

<« Fitting function - Raw data



E36 Csl waveform fitting

Result of Fitting

integral fitting linearity fitting difference: {f(t) - y(t)}/\q
fit

o 10 - - - [F05 T |Entries 7010000 w
® . = : : it IMeanx 1.633e+04
g % 10 = 0 1 77 Meany  -0.01159
£ s ; MSx 1.298e+04
3 = 0.04021 £
B ] W S Y- e . - = == § e - g R o

60 100 DlEpmesmeseecopeesssmmseneTm e g mes s ST U 10°

N S TS S S A LU T DY 0 o el ... 0 0 -

40 i i 10*

P integral .
* i | Entries 28040 10 .
20 i | Meanx 1.633e+04 | -0.. e 10
i | Meany 1.584e+04 i
10 | BMS x 1.298e+04 |
AMS y 1.245¢+04
o I o ek 1
80 intagra?()anar’gy;1(§)0 1 integral energy: q

Relation of linearity with raw data Relation of linearity on raw data integration

integration v.s. Fitted function integration




E36 Csl waveform fitting

Future Work

1. Energy correct

waveforminx y)=(29,10,27)
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2. optimization for over range wave

waveform(nx,y)=(194.6,32)
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